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1 Current status

Higher layer configured 

· Channelization code set (CCS) for initial transmission [1 or 2 codes]

· 4 TBS. 

Question1: 
What is max TBS? How does it relate to HARQ buffer size? How long UE need to keep buffering data of the 1st transmission for HARQ combining with 1st retransmission? I.e. how large is buffer size? Should there be separate HARQ entity for legacy and new HS-DSCH?
Question2:
Why should we limit number of codes in retransmission?

2 Discussion

To answer Question1:
In discussion below, it is assumed that 1st RM is transparent.

The original HS-SCCH less require 6 buffers and 6 blind decoding (3 for each of the two TBS). Buffer size per HARQ process is 4590 = [(137+24)*3+12]*3 + [(317+24)*3+12]*3 => Buffer size for 6 HARQ processes is 27540 i.e. ~ 25% of total HARQ buffer of Rel’5 10codes category UE (115200)

In the latest proposal, if we assume that TBS={137, 317, 509, 699} then total HARQ buffer in one TTI is 5322 = [(137+24)*3+12]+[(317+24)*3+12]+[(509+24)*3+12]+ [(699+24)*3+12]

In [1], “Pointer to the previous transmission (3 bits) xptr,1, xptr,2, xptr,3  is the unsigned binary representation of s, such that the previous transmission of this HARQ process started (6+s) subframes before the start of this transmission.”  means that 1st transmission may need to be buffered for a period of up to 14TTI. If inter TTI interval is set to 1 then total buffer size is 5322*14=74508 i.e. ~65% of total HARQ buffer of Rel’5 10codes category UE (115200). Obviously, this figure should be carefully considered and justified.  

Proposal1:

· To simplify the system operation for both UE and Node B, legacy and new HS-DSCH should use separate HARQ entity and HARQ memory

· In order to keep reasonable size of HARQ buffer for new HS-DSCH, RAN1 to revise and decide if 
· Large TBS (509 and 699) is really needed to support VoIP and small packet service.
· Inter TTI of one is needed to support VoIP and small packet service. 

· For new HS-DSCH, UE discard 2nd retransmission if 1st retransmission was missed

Porposal2:

There is no need to limit number of codes in retransmission to 2
3 References
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